KVK Tutorial Centre @cososss2-1)

No. 30, Lorong Aman Jaya, Taman Aman Jaya, 14000 Bukit Mertajam, Pulau Pinang. Tel: 012-2105199

Klasifikasi Akaun dan Persamaan Perakaunan:
Jawapan Soalan 66

(a) Modal
= Aset — Liabiliti
= (1,200 + 5,000 + 850) — 0 = RM7,050

(b) Modal
= Aset — Liabiliti
= (420 + 2,800 + 3,800) — (1,640 + 480)
=7,020 — 2,120 = RM4,900

(c) Modal
= Aset — Liabiliti
= (3,460 + 1,230 + 6,400 + 400 + 110) — 800
=11,600 — 800 = RM10,800

(d) Modal
= Aset — Liabiliti
= (4,350 + 250 + 8,400 + 9,400) — (2,400 + 560 + 5,000 + 120)
= 22,400 — 7,780 = RM14,620

www.kvk-accounting.com



